
1.-22. sorularda, cümlede boş bırakılan yerlere uygun düşen sözcük ya da ifadeyi bulunuz.

1.   
When television broadcasting emerged, it became an important — medium for national and local news.
A) 
retirement            B) 
hospitality
C) 
distribution           D) 
discrimination
E) 
minority
2. 
The radiation leaks, which were not taken care of in the past, now have a disastrous — on the environment.
A) 
grace                   B) 
regard
C) 
virtue                   D) 
innocence
E) 
impact
3. 
Many employers are known for giving serious penalties to their workers for failure to —with the regulations.
A) 
comply                
B) 
obey
C) 
disagree              
D) 
produce
E) 
investigate
4. 
Insurance companies normally refuse to make a payment before they — the cost of damage and its source.
A) 
glance                  B) 
appreciate
C) 
consume              D) 
estimate
E) 
slide
5.   
Roads in the cities should be adequate to traffic; otherwise traffic congestion will be ----.
A) 
preventive 
B)
inevitable 
C) 
competent
D) 
adequate
E) 
redundant
6.
Making a decision among one of those fine hotels is hard, but it is even harder when you see just how —the rates and packages are.
A) 
explosive 
B) 
immoral
C) 
desperate 
D) 
heartrending
E) 
tempting
7.   
The city council has been trying — to organize cultural gatherings to bring back the spirit and high sense of forgotten values in spite of all the objections.
A) 
ruthlessly       
B) 
clumsily
C) 
scornfully             D) 
vigorously
E) 
reluctantly
8.  
When we wanted to take advantage of the facilities in the local health club, we sadly found out that they were available -----to established members.
A) 
exclusively           B) 
closely
C) 
willingly                D) 
evenly
E) 
delicately
9.   
When he found a hundred dollars on the street, he decided to give it to the first beggar that —.
A) 
looked into         
B) 
fell apart
C) 
put through          D) 
came along
E) 
went about
10. 
With the arrival of the new director, the employees were expected to — so many new regulations that some of them even started thinking of giving up their jobs.
A) 
go under            
B) 
break up
C) 
put away             
D) 
take in
E) 
come into
11.
The bombing of Hiroshima and Nagasaki in Japan ended the Second World War, which — on since Germany — Poland.
A)    had been going on / invaded
B)    goes on / had invaded
C)   
went / has invaded
D)    is going on / invaded
E)    has been going on /would invade
12.
It is claimed that if the wireless operator of the Californian — a few minutes longer at his post, that ship — the honour of rescuing the lives of the passengers and crew of the Titanic.
A)    has stayed / may have
B)    remained / could have had
C)    remains / should have had
D)   
will remain / would have
E)    had remained / might have had
13. 
"The FBI Files" —on Discovery Channel only portrays what — in documented court records.
A)    having appeared / reported
B)    appeared /was reported
C)    appearing / has been reported
D)   
was appeared / is reported
E)    appear/will report
14. 
No sooner had she found out that she had passed out — the sight of blood than she gave up the idea — becoming a doctor.
A) 
in/for                    B) 
about/in
C) 
for/about              D)
at/of
E) 
through /with
15. 
Many animals are immune — insect venoms that have strong effects — humans.
A) 
to /on               
B)
of/in
C) 
through / into       D) 
with / at 
E) 
on /about
16. 
The number one reason — editors have given for books being rejected by agents and publishers is poor writing.
A) 
whose 
B) 
why 
C) 
where
D) 
of whom
E) 
that
17. 
A car has as many as three thousand different components, — of which is designed separately to work in perfect coherence with each other.
A) 
many                
B) 
much
C) 
any                
D) 
both
E)
each
18. 
The president has declared a state of
national disaster — the seriousness of the situation.
A) 
due to             
B) 
inasmuch as
C) 
in contrast to       
D) 
despite
E) 
so as to
19. 
What we are worried about is that if a war breaks out in the near future, everything we — over the past 50 years — to ashes.
built/ has reduced
had built/ reduces
have built/will be reduced
were building / used to reduce
are building /would reduce
20.
The group of boys wanted the man to decide — one of them told the biggest lie to win the bet.
A) 
whatever         
B) 
whichever
C) 
whoever             
D) 
whomever
E) 
however
21. 
I have met a lot of people who are sorry for not — a college degree, but I have never met anybody who regretted — one.
A)    to have /to have
B)    having had /to have had
C)    having/to have
D)   
to have had / having
E)    having / having
22. 
The paintings in the art museum were kept in — unfavourable conditions for years — most of them were found in dirt.
A) 
as/as                  
B) 
too/that
C) 
such/that             D)
so/as
E)
more / than

23. -27. sorularda, aşağıdaki parçada numaralanmış yerlere uygun düşen sözcük ya da ifadeyi bulunuz.

Marriage is a socially recognized and approved union (23) — individuals, who commit to (24) — with the expectation of a stable and lasting intimate relationship. It begins with a ceremony known as a wedding, (25) — formally unites the marriage partners. A marital relationship usually involves some kind of contract, (26) — written or specified by tradition, which defines the partners' rights and obligations to each other, to any children they may have, and to their relatives. In most contemporary industrialized societies, marriage is (27) — by the government.
23.
A) 
next to          
B) 
into
C) 
around                 D) 
between
E) 
within
24.
A) 
himself           
B) 
one another
C) 
others                  D) 
them
E) 
themselves
25.
A) 
which             
B) 
where
C) 
in which               D) 
who
E) 
whom
26.
A) 
not only        
B) 
both
C) 
either                 
D) 
neither
E) 
nor
27.

A) 
disapproved            

B) 
contacted
C) 
dedicated               
D) 
certified
E) 
condemned
28. -32. sorularda, aşağıdaki parçada numaralanmış yerlere uygun düşen sözcük ya da ifadeyi bulunuz.

(28) — adults are able to return to college to pursue further education because they have jobs or families to (29) — . Even on-campus adult education programs (30) — unfeasible for some. Many professionals work irregular hours or they travel as part of their jobs. (31) —, an on-line degree program on the internet allows study wherever and whenever a busy schedule allows. Consequently, adults (32) — access to continued education are increasingly    turning          to online
programs. The freedom to study how and when they                 want                 is                 essential.
28.


A)
Many of
B)
Few


C)
Plenty
D)
Much of


E)
A little
29.

A) 
attempt             
B) 
encounter

C) 
dispute                
D) 
ratify

E) 
sustain

30.
A) 
needn't be     


B) 
can be 
C) 
mustn't be     


D) 
could have been 
E) 
should have been
31.
A) 
However                
B) 
Therefore
C) 
While                      
D) 
In addition
E) 
On the contrary
32.
A) 
sought       
B) to seek
C) 
seeking               
D) will seek
E)
seek

33.-42. sorularda, cümleyi uygun şekilde tamamlayan ifadeyi bulunuz.

33. 
Fortunately, by the time they went to the auction —.
A)   
a prestigious businessman has bought 
the icon
B)  
the pitcher dating back to 60 A.D. hadn't been sold
C)   the masterpiece was to have been sold
D)   they didn't see it before
E)   
their friends had already left
34. 
Drivers will not be able to get their licenses back —.
A)   
if they fulfilled all the necessary requirements
B)   providing that they do not drink and drive 

again
C)   unless they exceed the speed limits
D)   should they get their eyes checked
E)   unless they attend and pass the driver 

retraining program
35. 
Encountering problems with the brand new device —.
A)    he should have phoned the store
B)    it was a mistake to buy it
C)    the serviceman helped with the 

installation
D)    she was content to have bought it
E)    he could have considered buying it
36. 
Had our tour leader not brought a map with him —.
A)    I believe we would have got lost
B)    we would figure out the way to our 

destination
C)    we were able to find out how to get there
D)    I must confess that it was a right thing to 

do
E)    he could have been successful at telling 

us which road to take
37. 
That you think we should abandon the plan _.
A)    has come to a mutual agreement
B)    there is no need to carry on with it 

anymore
C)    it is hard to make a decision
D)    does not necessarily mean that we are 

going to leave it
E)    the most sensible thing to do is to stick 

to the plan
38. 
— you should think about how long you are planning to stay in it.
A)    On the point of making online 

reservations
B)   To determine whether you should buy a 

new house
C)   Before you book your rooms for the 

summer
D)   While looking for warm places in the 

catalogue
E)   
If you want to join to those all night long parties
39. Only after the dam was nearly completed 

—.
A) 
have they been ready to get down to

business
B)
has the project appeared to be irretrievable
C)   
should the inspector be asked to stop the construction
D)  
will the engineer prove to be reliable  did the real environmental value of the
E)
threatened gorge emerge
40. 
— there might be no sensible option other than make it work.
A)    No matter how efficient the plants are
B)    Although it is the best plan ever made
C)    Now that the thermal reactor is built
D)    If it were not a commercial enterprise
E)    That there is no evidence against it
41. 
— there has been a dramatic fall in the past decade of students applying to pursue physics as a teaching career.
A) 
Despite the fact that schools and universities in Britain are facing a crisis
B)   
Ever since a recent project demonstrated the relevance of the science to everyday lives
C)  
Since physics play an important part in so many aspects of our lives
D)   Although the numbers are going down
E)   
Indeed, all the sciences are struggling to persuade 11 to 16 year-olds
42. 
While plastic surgery is often used to reduce the appearance of wrinkles —.
A)   
the underlying skin texture may still give away the age of a person's face
B)   
images created by the lab team would never be copied otherwise
C)   
it could also have been used for missing person inquires
D)   
the use of artificial hair and hair colour would not have remained a choice
E)   
they live in a media culture where appearance is important
43.-46. sorularda, verilen cümlenin hangi sorunun cevabı olduğunu bulunuz.

43. If I were you, I would.
A)    What do you think about my plans?
B)    Can you tell me which one to choose?
C)    Do you think I should accept their offer?
D)    What did you think you were doing?
E)    Would you like to dance with me?
44. 
Yes, mum, but just look how cute it is.
A)   
Have I told you lately how much I love you?
B)   
Don't you think sometimes you should study harder?
C)   
Don't you know how much I want to buy a pet cat?
D)   Didn't I just tell you to let the kitten go?
E)   
We should leave them and go now, shouldn't we?
45.
Of course. He didn’t.

A)
Did you see Dave yesterday?
B)
Bob did not object to your proposal, did

he?
C)

Has Malcolm told you anything about me?
D)
Does he remember meeting you before?
E)
Mark was not there, was he?
46. 
Not any so far unless you have anything in mind.
A)   
Weren't you supposed to go to Milan's party?
B)    Have you seen your parents yet?
C)    Why don't you take a nap?
D)    Do you have any plans for Friday night?
E)   
Where was it you said you went on holiday last summer?
47. - 50. sorularda, verilen İngilizce cümleye anlamca en yakın Türkçe cümleyi bulunuz.

47. 
Renaissance, which means "rebirth" in France, perfectly describes the intellectual and economic changes that occurred in Europe from the fourteenth till the sixteenth centuries.
A)   
Fransa'da on dördüncü ve on altıncı yüzyıllar arasında Rönesans'ın meydana getirdiği ekonomik ve entelektüel değişiklikler "yeniden doğuş" terimiyle mükemmel bir şekilde ifade edilmektedir.

B)  
"Yeniden doğuş" anlamına gelen Rönesans, Avrupa'nın on dördüncü yüzyıldan on altıncı yüzyıla kadar yaşamış olduğu mükemmel ekonomik ve entelektüel değişimleri anlatır.

C)   
Fransızca'da "yeniden doğuş" anlamına gelen Rönesans, on dördüncü yüzyıldan on altıncı yüzyıla kadar Avrupa'da meydana gelen entelektüel ve ekonomik değişimleri mükemmel bir şekilde tanımlar.

D)   
Fransızca'da "yeniden doğuş" anlamına gelen Rönesans ,on dördüncü yüzyıldan on altıncı yüzyıla kadar Avrupa'da ortaya çıkan mükemmel ekonomik ve entelektüel değişimleri tanımlar.

E)   
Avrupa'da Rönesans'la birlikte yaşanan ekonomik ve entelektüel değişimler on dördüncü yüzyıldan on altıncı yüzyıla kadar "yeniden doğuş" terimiyle ifade edilmiştir.

48. 
A young child's untreated ear infection, which can cause a general illness by spreading the throat, can also lead to hearing loss.
A)   
Aynı zamanda işitme kaybına da neden olan kulak enfeksiyonu küçük çocuklarda tedavi edilmezse boğaza yayılarak genel bir hastalığa neden olabilir.

B)   
Genel bir hastalığa neden olabilen küçük bir çocuğun tedavi edilmemiş kulak enfeksiyonu boğaza yayılarak işitme kaybına yol açabilir.

C)  
Boğaza yayılarak genel bir hastalığa neden olabilen küçük bir çocuğun kulak enfeksiyonu tedavi edilmezse işitme kaybına yol açabilir.

D)  
Küçük çocukların tedavi edilmemiş kulak enfeksiyonları boğaza yayılarak genel bir hastalığa neden olabileceği gibi işitme kaybına da yol açabilir.

E)  
Boğaza yayılarak genel bir hastalığa neden olabilen küçük bir çocuğun tedavi edilmeyen kulak enfeksiyonu aynı zamanda işitme kaybına da yol açabilir.

49. 
The giant dam in Brazil remains a symbol of the battle between those who believe that energy is a need of a growing economy and those who think that the country's remaining natural heritage is too precious to sacrifice.
A)   
Brezilya'daki dev baraj, ülkenin doğal mirasının vazgeçilmeyecek kadar değerli olduğunu düşünenlerle, ekonomik açıdan enerjinin büyük bir ihtiyaç olduğuna inananlar arasındaki savaşın bir sembolü olarak durmaktadır.

B)  
Ülkenin doğal mirasının feda edilemeyecek kadar kıymetli olduğunu savunanlarla, enerjinin çok büyük bir ekonomik gereksinim olduğunu düşünenler Brezilya'daki bu dev baraj yüzünden birbirleriyle savaşmıştır.

C)  
Brezilya'daki dev baraj, ülkenin geriye kalan doğal mirasının feda edilemeyecek kadar kıymetli olduğunu düşünenlerle, enerjinin büyüyen bir ekonominin gereksinimi olduğuna inananlar arasındaki savaşın bir sembolü olarak durmaktadır.

D)  
Burada sembolik olarak durmakta olan dev baraj, ülkenin geriye kalan doğal hazinelerinin feda edilemeyecek kadar önemli olduğunu düşünenlerle, enerjinin büyüyen bir ekonominin vazgeçilmez bir ihtiyacı olduğuna inananları hep karşı karşıya getirmiştir.

E) 
Enerjinin büyüyen ülke ekonomisine büyük katkıda bulunduğunu savunanlarla, ülkenin doğal varlıklarının feda edilemeyecek kadar değerli olduğunu düşünenler bu dev barajı bahane ederek bir çok kez savaştılar.

50. 
The Medicinal Herb Garden, which opened its doors to guests just a few months ago aims to form a collection of herbs and to educate people about medicinal herbs and their profits.
A)   
Bir bitki koleksiyonu oluşturmayı ve şifalı bitkiler ve yararları hakkında insanlara eğitim vermeyi amaçlayan Şifalı Bitkiler Bahçesi birkaç ay önce kapılarını ziyaretçilere açtı.

B)  
Henüz bir kaç ay önce kapılarını ziyaretçilere açan Şifalı Bitkiler Bahçesi, bir bitki koleksiyonu oluşturmayı ve insanlara şifalı bitkiler ve yararları hakkında eğitim vermeyi amaçlıyor.

C)  
Henüz birkaç ay önce açılan Şifalı Bitkiler Bahçesi bir bitki koleksiyonu oluşturup insanlara şifalı bitkiler ve yararları hakkında bilgi vermeyi amaçlıyor.

D)  
Henüz birkaç ay önce kapılarını ziyaretçilerine açan Şifalı Bitkiler Bahçesi’nin amaçlarından biri de bir bitki koleksiyonu oluşturup insanlara şifalı bitkiler ve yararları hakkında bilgi vermektir.

E)  
Henüz birkaç ay önce kapılarını ziyaretçilerine açan Şifalı Bitkiler Bahçesi’nde şifalı bitkiler ve yararları hakkında bilgi edinen insanlar bir bitki koleksiyonu oluşturdular.

51.-54.  sorularda,  verilen  Türkçe cümleye anlamca en yakın İngilizce cümleyi bulunuz.

51. 
Onun şirkette daha yüksek bir pozisyona terfi ettirilmesini sağlayan şey yalnızca baş arıları değil, aynı zamanda herkesin hayranlık duyduğu karakteriydi.

A)   
He was promoted to a higher position in the company as a result of not only his achievements, but also his admirable character.
B)  
What made him to be promoted to a higher position in the company was not only his achievements, but also his character that everyone admired.
C)  
A result of his being an ambitious and 

admirable person, he was promoted to a 


better position.
D)  
He was such a successful and admirable person that he was promoted to a higher position in the company.
E)  
One of the reasons that made him to be promoted to a higher position in the company was his admirable achievement.
52. 
Sinirlerin, kasları kontrol edebilme


yeteneğinde önemli bir gerilemeye yol 

açan Parkinson, çağımızın en yaygın 

hastalıklarından biri olarak kabul 

edilmektedir.

A)   
Parkinson, which causes an important deterioration in the nerves' ability to control the muscles, is regarded as one of the most widespread diseases of our age.
B)  
The disease, known as Parkinson in our age, causes an important deterioration in the nerves' ability to control the muscles.
C)  
Causing an important deterioration in the nerves' ability to control our muscles, Parkinson is one of the most widespread diseases of our age.
D)   Parkinson is considered as the most
important of all diseases in our age, and 

it causes an important deterioration in 

the nerves' ability to control the muscles.
E)  
The most important disease that causes deterioration in the nerves' ability to control the muscles is known as Parkinson in our age.
53. 
Lale devri boyunca, 17.yüzyılın siyasal olaylarından olumsuz yönde etkilenen Osmanlı Sanatı'nı yeniden canlandırmak için birçok çaba gösterildi.

A)   
Many struggles were given to prevent the events in the 17th century that affected the Ottoman Art politically in the Tulip Period.
B)  
During the Tulip Period, a lot of effort was made to resuscitate the Ottoman Art suffering from the 17th century's political events.
C)  
Due to the effects of the 17th century's political events, a lot of effort were made to enliven the Ottoman Art in the Tulip Period.
D)  
During the Tulip Period, people showed great effort to resuscitate the Ottoman Art, which suffered a lot from the political events that took place in the 17th century.
E)  
Throughout the age, known as Tulip Period, people endeavored a lot in order to prevent the Ottoman Art from being affected by the 17th century's political events.
54. 
Dini ön yargılar, siyasal özgürlük

kısıtlamaları ve ekonomik sorunlar gibi çeşitli sebepler neden bazı insanların tarih boyunca anavatanlarını terk ettiklerini açıklayabilir.

A)   
Religious prejudices, political freedom restrictions and economical problems are several reasons why people have left their homelands throughout the history.
B)  
Several reasons why people have had to leave their homelands throughout the history can be stated as religious prejudices, political freedom restrictions and economical problems.
C)   
Various reasons like religious prejudices, political freedom restrictions and economical problems can explain why some people have left their native lands throughout the history.
D)  
Throughout the history, people have left their native lands due to a variety of reasons such as religious prejudices, political freedom restrictions and economical problems.
E)  
Why some people have left their native lands throughout the history can be explained by various reasons like religious prejudices, political freedom restrictions and economical problems.
55. -57. soruları, aşağıdaki parçaya göre cevaplayınız.

Tsunami, a Japanese word meaning "harbour wave," is a wave in the ocean or lake created by a geologic event. Oceanographers call tsunamis seismic sea waves because they are usually caused by earthquakes, landslides or marine slides under or near the ocean. These push the water upward, sideways or downward to create the tsunami waves. Volcanic eruptions can also cause tsunamis. A tsunami is not a single wave, but a series of waves that can travel across the ocean at speeds of more than 500 miles an hour. As the tsunami enters the shallows of coastlines in its path, its velocity slows but its height increases. A tsunami that is just a few centimeters or meters high from trough to crest can rear up to heights of 30 to 50 meters as it hits the shore, striking with devastating force. For those on shore there is little warning of a tsunami's approach. The first indication is often a sharp swell, not unlike an ordinary storm swell.
55. 
According to the passage, it is not easy for one to guess —.
A)    what exactly causes a tsunami
B)   
the arrival of a tsunami till it reaches enormous heights before it hits the shore
C)  
what precautions have been taken so far 

to avoid tsunamis
D)   how fast a tsunami can move
E)   
why tsunamis are called seismic waves
56. 
It's clear from the passage that —.
A)  
waves that do not reach a minimum height of 30 meters cannot be regarded as seismic waves
B)  
one of the characteristics of a tsunami is 
its incredible speed
C)  
the height of seismic waves seen by the 
shore do not differ from where they 

originate
D)  
the speed of a tsunami accelerates as it 
gets closer to the shore
E)  
the waves subsequent to the first give the biggest harm
57. It cannot be inferred from the passage that
A)   
a single big wave on its own cannot be called a tsunami
B)  
there are too many things that indicate a tsunami's approach
C)  
It is possible for the ones who live by the seaside to come across a tsunami
D)  
a far east country named these incredible waves as tsunamis
E)   
there are several reasons that can cause a tsunami
58. -60. soruları, aşağıdaki parçaya göre cevaplayınız.

It's common knowledge that antioxidants protect us from dangerous substances called free radicals that can create damage leading to many chronic diseases. Yet scientists say there is more to learn about the health benefits of antioxidants. Studies demonstrate that vegetables, fruits and whole grains supply an abundance of vitamins and natural photochemical that act as antioxidants. A greater consumption of these antioxidant-rich foods has been shown to lead to higher blood levels of antioxidant power. Studies also show that when people eat diets high in antioxidants, their risk of cancer and heart disease decreases. However, while antioxidant vitamins and photochemical are responsible for the health benefits seen, antioxidants from supplements may not yield the same results. A higher dose of antioxidants from supplements could actually be counterproductive by upsetting the natural balance of antioxidants in the body.
58. 
It's implied in the passage that —.
A)   
the lack of antioxidants may cause some 
sort of illnesses and give harm to the 

body
B)  
there is nothing further to be found about antioxidants by scientists
C)  
researchers have failed to show us the entire benefits of natural photochemical
D)  
antioxidants gained by means of supplements always keep the natural balance of antioxidants in the body
E)  
it is risky to consume foods which are rich in natural photochemical and antioxidants
59. 
The passage suggests that —.
A)   
people are all aware of the ways to protect themselves from hazardous substances such as free radicals
B)  
free radicals are the most dangerous substances that harm our bodies that scientist have ever found
C)  
when antioxidant-rich foods are consumed in greater amounts they lead to undesirable blood pressure rates
D)  
a higher dose of antioxidants intake through natural ways is better than a higher dose of antioxidants from supplements
E)  
antioxidants help cure any coronary disease
60. The passage makes it quite clear that —.
A)    the more antioxidants you get from
supplements, the better you are 

protected from dangerous substances
B)  
intake of foods which have plenty of antioxidants gives more or less the same results with that of supplements
C)  
scientists are busy creating new supplements that will keep the desired level of antioxidants in the body
D)  
it is hard to find natural foods rich in antioxidants
E)  
that they help reduce the risk of cancer is only one of the benefits that antioxidants provide
61. -63. soruları, aşağıdaki parçaya göre cevaplayınız.

As many of us are familiar with computers now, viruses are no longer new to us. But have you ever thought that you may have to deal with viruses on your mobile phones? Although there are no reports of people actually seeing these viruses in their daily use, some Japanese phone companies already sells phones with built-in anti-virus software. According to virus watchers, mobile phones could eventually be susceptible to viruses because they use operating systems that turn them into minicomputers. There are phones for instance, that can run Microsoft applications, like Excel. These can be e-mailed from a computer to a mobile phone and that opens a risk to a virus on the phone. Worried chatters should know that security experts this year found few viruses that target mobile phones and they were created and contained within labs but these cell phone viruses are not as lethal as viruses that have attacked PCs though.
61. 
We understand from the passage that —.
A)   
phones with virus protection will increase 
the sales of mobile phones
B)  
very few people have reported having viruses on their mobile phones
C)  
as phones now share similar operating systems that help run computers, they are capable of doing everything a computer can do
D) 
many phone companies around the world have already taken some measurements against viruses on cell phones
E)  
if you are a computer user, you are probably aware of harmful software that may affect your computer
62. It can be implied from the passage that —.
A)   
the only way to contaminate one's mobile phone with viruses is to send an e-mail to it through a computer
B)  
the number of viruses found related to 
phones by the specialists is worth 

worrying
C)  
advanced technology brings not only facilities that make our lives easier, but also some problems that needs taking precautions against
D)  
phone viruses can be as harmful as viruses in the computer world
E)  
viruses on our mobile phones is a matter phone companies have been dealing for a long time
63.   It is clearly stated in the passage that —.
A)  
phones' having similar operating systems to computers' does not necessarily mean that they are susceptible to viruses
B)  
although found in the labs, they have been spread worldwide now
C)  
if you do not have an anti-virus cell phone, it can easily be built in later on
D)  
laboratories should not be blamed for the viruses that damage phones
E)  
cell phone industry has already started taking some measurements against probable viruses on phones
64. -66. soruları, aşağıdaki parçaya göre cevaplayınız.

The greenhouse effect is a natural process that maintains the Earth's temperature at levels hospitable to life. Energy from the sun warms the Earth. The Earth absorbs heat from the sun and radiates it back into the space in the form of infrared radiation. About one percent of the Earth's atmosphere is composed of greenhouse gases, primarily water vapour, carbon dioxide, ozone, methane and nitrous oxide. Together, these gases reflect enough heat back to the earth to maintain the average temperature of our planet. At issue is mankind's ever increasing impact on enhancing the greenhouse effect, contributing to overall global warming. About one quarter of global methane emissions from human activities comes from livestock and the decomposition of animal manure and the rest comes from the supply and use of fossil fuels. The destruction of large forests has reduced the number of trees available to clean the air. When forests are cleared, most of the carbon burned escapes into the atmosphere.
64. 
As the writer points out in the passage —.
A)  
the greenhouse effect plays an insignificant role in maintaining a life-sustaining environment on earth
B)  
deforestation reduces the excessive amount of carbon dioxide in the atmosphere
C)  
approximately 25 percent of overall global warming is due to human activities
D)  
the Earth's atmosphere is basically formed with greenhouse gases
E)  
mankind's negative effect on global warming has been going on for some time
65. 
It's clear from the passage that without the greenhouse effect —.
A)   
mankind would be leading a life with no worries
B)  
people would not necessarily destroy large forest areas
C)  
the Earth would be a cold, uninhabitable place
D)  
the Earth would stop absorbing heat from the sun
E)  
global warming would be a much worse matter to be discussed than it is now
66. The passage tells us that —.
A)  
global warming and greenhouse effect 
are actually the same things
B)  
the global warming trend can cause a significant global climate changes
C)   
mankind is the only factor to be blamed for global warming
D)  
the global average temperature has 
increased over the past few years
E)  
the surface of the Earth is warmer than it would be in the absence of an atmosphere
67. -69. soruları, aşağıdaki parçaya göre cevaplayınız.

Narcissism is a Freudian term, drawn from the Greek myth of Narcissus, indicating an exclusive self-absorption. In psychoanalysis, narcissism is considered a normal stage in the development of children. It is known as secondary narcissism when it occurs after puberty, and is said to indicate a libidinal energy directed exclusively toward oneself. A degree of narcissism is considered normal, where an individual has a healthy self-regard and realistic aspirations. The condition becomes dangerous as a personality disorder, when it significantly impairs social functioning. An individual with narcissistic personality disorder feels himself unique. He is often excessively occupied with fantasies about his own attributes and potential for success, and usually depends upon others for reinforcement of his self-image. A narcissist has difficulties maintaining healthy relationships, stemming largely from a lack of empathy and a wish for taking advantage of others to fulfil his own needs. It is often found in combination with antisocial personality.
67. 
According to the passage, in

psychoanalysis, narcissism —.
A)    can be acceptable to a certain extent
B)    can be seen normal only before puberty
C)   
means being lack of energy and being unwilling to do many things
D)  
stems from having been discouraged by others
E)    is essential to be a social person
68. 
According to the passage, a narcissist may have some problems in his relations —.
A)   
because he daydreams about his future all the time
B)  
because he does not want to depend on 
others
C)   when he starts being highly selfish
D)   
but he always finds a way to attract attention
E)  
although he appreciates other people's feelings
69. 
It can be understood from the passage that --.
A)  
if an individual is unable to have healthy relationship with other people, he is to be called a narcissist undoubtedly.
B)  
narcissists do not regard themselves as superior to others
C)  
narcissism starts from the moment an individual steps into adolescence
D)  
narcissists seek attention and admiration 

from others
E)  
the state of exclusive self-absorption was first issued by Freud
70. -72. soruları, aşağıdaki parçaya göre cevaplayınız.

Charles Darwin's family was disappointed when he failed to emulate his father and become a doctor. He decided he would rather be a clergyman, thinking that this profession would allow him enough time to pursue his hobby of natural history. However, when he left Cambridge in 1831, he was given the opportunity to join a voyage as a naturalist during an exploration of the cost of South America that would last several years. On his return in 1836, with the benefit of a large legacy from his father, he settled in London and devoted himself to naturalism. Eventually, he developed his thoughts into a theory of evolution, which he published as The Origin of Species. Immediately Darwin became the centre of a great controversy. Many people simply resented the idea that they had ascended from the apes. But gradually his theory became widely understood and generally accepted. Now it is considered to be one of the most important discoveries in the history of mankind. Unlike many others, his greatness was recognised by the time he died.
70. 
From the passage we understand that —.
A)   
Darwin's trip to South America lasted longer than a decade
B)  
when he issued his ideas in a book, many people accused him of destroying the foundations of religion
C)  
Darwin's thoughts are no more 

appreciated in the light of modern 

science
D)  
Charles Darwin was the first to discuss the evolution of mankind
E)   
Charles Darwin's father was a doctor
71. 
From the passage we realize that —.
A)   
Darwin's thoughts were far from being discussed in his age
B)  
He inherited a considerable amount of money from his father
C)  
Darwin's father was interested in the history of mankind
D)  
Darwin's interest in naturalism had not started until after the journey he made to South America
E)  
It took long years for his ideas to be recognised after his death
72. 
It is possible to interfere from the passage that —.
A)   
Darwin's theory of evolution did not go any further than thoughts
B)  
Darwin's parents expected him to choose 

a different profession from his father's
C)   
Darwin spent the rest of his life where he was born after he came back from his travels
D)  
Darwin was a man whose ideas were appreciated not only after his death, but also during his life
E)  
Resented the idea that people descended from the apes
73. -75. soruları, aşağıdaki parçaya göre cevaplayınız.

The lions of the greater Tsavo region in south eastern Kenya have a long history of conflict with humans. Most famously, two lions killed and ate more than 130 railroad workers during a nine-month rampage in 1898. Today humans do most of the killing, persecuting the carnivores in retaliation for their raids on livestock. Roland Kays, the curator of mammals at the New York State Museum in Albany, says that if the trend continues and escalates, these African lions may face extinction. Currently a number of Tsavo lions are afforded protection within the confines of the Tsavo National Parks, which encompass about 20,000 square kilometres in southeastern Kenya. Kays says he does not believe park protection alone guarantees the lions' long-term conservation. He believes that the carnivores require vast territories and that some lion prides exist entirely outside park boundaries. According to him, the presence of the parks makes this region a relative stronghold for lions in the region, and so it is important to make it as strong as possible.
73. 
According to the passage, Kays does not think that park protection on its own is a long-term solution in order to save the lions -.
A)   
because the land is too immense to be taken care of
B)   
unless it is planned and run by a curator of a museum
C)  
as the preserved land provided for them does not encircle all the lions
D)  
due to the negative attitude of the inhabitants of Tsavo towards the lions
E)   
since the lions cannot breed in captivity
74. We understand from the passage that —.
A)   
the people of Tsavo kill the lions on the grounds that the lions attack the animals on their farms
B)  
people are thinking of taking revenge related to the past incident in which railway workers got killed
C)  
not only lions but also other rare animal kinds should be preserved
D)  
the director of a state museum in New York is worried whether the lions will continue to kill more people
E)  
parks need little maintenance as the natural sources are well abundant
75. The passage mainly deals with —.
A)   
an animal species in Africa facing a probable extinction
B)   
the people of Tsavo and their never ending feelings of revenge
C)   
the animals attacked on people's farms in Tsavo
D)   the sorrow caused by the lion attacks in
1898
E)   
curators who should be more efficient in preserving wild animals
76.-80. sorularda, verilen cümleye anlamca en yakın cümleyi bulunuz.

76. 
I think it is highly unlikely that he used a credit card to pay some of his bills.
A)   
In my opinion, a credit card was used for the payment of the bills.
B)   
It seems to me that he could have used a credit card in order to pay some of his bills.
C)   
Apparently, he had a credit card to cover some of his bills.
D)   
For me, it is almost impossible for him to have covered a part of his bills by a credit card.
E)   
It is unlikely that he had a credit card to pay all the bills.
77. 
I had barely enough to live on after I had paid my tuition fee.
A)   
I had no money left to survive after I paid my school fee.
B)   
I cannot look after myself now as I have used all my money to pay my tuition fee.
C)   
I had plenty of money left after I had paid my school fee.
D)   
I had hardly enough money to survive after my payment to school.
E)   
I did not have enough to cover my tuition fee.
78. 
Those applicants returning their forms at the earliest will have the highest priority.
A)   
The ones who fail to apply at once will not be taken into consideration in the first place.
B)   
Returning the forms back the soonest is only one of the dues applicants comply with.
C)   
The later you apply, the better chance you have.
D)   
Whether you apply sooner or later makes 
no difference among the other applicants 

when assessing the forms.
E)   
You will surely be admitted, as you are one of the applicants.
79. 
What appears in the first draft of the plan may not necessarily be in the final one on account of the economic crisis we are in.
A)   
What is seen in the initial draft will be kept the same in the final draft regardless of the economic crisis we are in.
B)  
The financial problems will not lead us to make any changes in our plans.
C)   
That changes might take place in the final draft of the plan compared to the first cannot be related to the financial problems we have.
D)   
It is necessary that we stick to the original plan due to the financial problems.
E)  
What will appear in the final draft of the plan may differ from the first one owing to the financial problems.
80. 
It is not impossible for the reception to take place in this hall unless the hotel manager booked it for someone else.
A)  
There is no possibility that the reception will take place in this hall even if the manager did not book it for someone else.
B)   
The reception will not take place in this room as the hotel manager reserved it for another person.
C)   
The reception might take place in this hall provided that the hotel manager did not reserve it for someone else.
D)   
The hall must be booked in advance in 
case the hotel manager keeps it open for 

someone else.
E)   
It's quite likely that the reception will be held in this hall after the hotel manager is persuaded.
81.-85. sorularda, boş bırakılan yere parçanın anlam bütünlüğünü sağlamak için getirilebilecek cümleyi bulunuz.

81. 
If you are looking for a job, get out and talk to people about your job search. Focus on your appearance, language, and enthusiasm. Let these people know you value their help and direction. —. It will differentiate you from other jobseekers and help create a lasting impression. Include a phrase or a short sentence that describes you, or use the objective statement from your resume.
A)   
Get your mother's opinion about your outfit before you go on an interview
B)  
It is better to meet with strangers than 
people you know because they will not 

have negative ideas about your ability
C)  
Using a calendar will help you plan your schedule without forgetting an interview
D)  
Consider using a business-size card as a handout for everyone that you discuss jobs and employment opportunities with
E)   
Be sure to remember the full name of the people you intend to contact
82. 
Houseplants are popular indoor decorations. Attractive and constantly changing, they add a softness of line and provide a bit of nature indoors. —. Lack of adequate light is the most common factor limiting the growth of plants in many areas of the home. Supplementary electric lighting is usually the easiest and least expensive way to provide enough light for plants that do not receive adequate natural light.
A)   
However, the ideal location of a plant for decoration may not be the ideal spot for plant growth
B)   
Therefore fluorescent tubes provide one of the best artificial light sources available for plants in the home
C)   
However, the red light produced usually 

is not enough for plants unless windows 


or other artificial lights produce additional 


red rays
D)   
Plants that can adapt to interior settings usually are divided into three general categories
E)   
Growth is often best at the higher end of these suggested light ranges
83. 
Modern tyres perform exceptionally well  also provide improved riding comfort, better road holding and handling and safer braking. Tyre performance is linked to overall vehicle performance. So out-and-out mileage is not necessarily an indicator of optimum tyre performance.
A)   
Taxi drivers and owners need to be aware of the critical importance of using and maintaining suitable tyres
B)   
For example, a high mileage truck tyre requires far different properties to a low profile high performance car tyre, or motorcycle tyre
C)   
There are several factors that could lead to tyre trouble; under inflation, overloading and speeding
D)   
One of the tyre companies is now committed to ensuring that drivers know how to fit their tyres correctly for safety and for longer tyre life
E)   
They deliver a good life in pence per mile terms and cost less in fuel consumption
84. 
Teenage girls are becoming smokers at higher rates than teenage boys. Actually, parents can help keep their teenage daughters from smoking by working with them to accomplish three steps. —. For some girls this means making different friends. For others, it means getting involved in activities where they do not need to smoke to be accepted. Girls who have passed the first step often feel that smoking is "dumb" or "pointless."
A)  
Girls who smoke may also start drinking earlier
B)   
Firstly, girls say that they smoke to appear older and to appear more confident
C)   
The first one is to have the self-confidence to decide that they did not need to smoke to fit in with their friends
D)   
This step involves doing some very specific things that show others and themselves that they are not going to smoke
E)   
Several studies have shown that about 30% of teenage girls smoke, compared to 22% of boys
85. 
Violent video games have been accused of causing more aggressive behaviours among teenage boys. This has been talked about more lately because the teen boys who were involved in the recent school shootings were also video game players. —. Some parents believe that aggressive games foster violent behaviour. The others think that aggressive play is natural for boys and it helps them practice dealing with issues they may face in real life.
A)   
Studying the effects of violent video games on teens is a relatively new idea that began in 1984
B)  
Parents often disagree about how to react when their sons play war and other aggressive video games
C)   
However, parents need to watch for signs that video games are taking the place of other healthy activities
D)   
And finally, some parents believe that playing violent video games provides a boy with an outlet for intense feelings that might otherwise result in destructive acts or fights
E)   
Few studies have found that violent video games result in violent teens
86.-90. sorularda, verilen duruma uygun düşen cümleyi bulunuz.

86. 
One of your colleagues has made a serious mistake. When your boss asks you questions about the mistake, in order to comfort him without mentioning your friend's name, you say:
A)   
Well, some mistakes have been made in the project, but these are not things that we can not get over.
B)   
Sorry boss, but we must get rid of this new representative the soonest.
C)   
I knew he was going to make a mistake 
on the first day.
D)   
He has already shown some improvements.
E)   
I admit, she shouldn't have done that, but you don't need to worry as things have already come back to normal.
87. 
You are about to set off for a business trip and your daughter starts crying while she is seeing you off as if she would never see you again. Knowing that you will be back quite soon, you say:
A) 
You know that I have been there many times.
B)   
What would you like me to bring for you this time?
C)   
Don't worry. I will be beside you as soon as you get up tomorrow morning.
D)   
You are getting on my way as usual.
E)   
Two weeks is like two years without you.
88. 
Your accountant has recently declared that he has missed one of the tax payments, which was due two years ago. Now you have to pay a lot more than you actually had to pay. Considering that he has worked for you for long years, you say to him:
A)   
I think you deserved this promotion long before.
B)   
I regret to inform you that there won't be any pay rise this year.
C)   
At least you should have given his redundancy pay.
D)   
I will not let this incidence affect your career provided that it will not happen again.
E)   
I am afraid it is high time you left this company.
89. 
One of your friends has been working really hard without a day off for quite some time and another national holiday which gives a three-day-off opportunity from work is approaching. You want to persuade him to come over to your house in Bodrum with his family and say:
A)   
Why to come all the way altogether for just three days?
B)   
What about coming to our place for a few days as you all need refreshment?
C)   
If I were you, I would take the chance to complete my entire work before I get to work again.
D)  
How about having a nice holiday on your own near the seaside?
E)   
You'd better think twice before you decide to bring your family with you.
90. 
Your company always sends you to attend trade fairs abroad. There is another one in the following days but this time a new employee is going to be sent. Your manager comes to you and say regretfully:
A)   
I gave you many chances to improve yourself but you couldn't.
B)   
I wish I did not swap your places.
C)   
Let's see if he can manage this job as well as you do.
D)   
This change had to be done long ago as you have proved to be useless.
E)   
I am sure you are happy about this change as you have been looking forward to it for a long time.
91.-95. sorularda, karşılıklı konuşmanın boş bırakılan kısmını tamamlayabilecek ifadeyi bulunuz.

91. 
Judy      : I have always wanted to visit 


Rome.
Mike      : ….

Judy 
: You mean that I should leave all 


the work and take a trip?
Mike
: As business is slowing down at 


that time of the year, I wouldn't 


hesitate.
A)  
You have been there twice this year.
B)   
I don't think the boss will be willing to give you a few days off for that trip.
C)   
I wish you could come with me since your Italian is much better than mine.
D)   
If I were you, I would go there before the winter starts.
E)   
Why don't you consider going to Venice since it is much cheaper?
92. 
John
: Where have you been?
Mary 
: I thought I told you I was 


working late tonight.
John 
: ….

Mary
: Well, thanks for your concern, 


but you know how my schedule 


is.
A)   
You did not and I was worried sick.
B)   
I know I should have left a message for you.
C)   
Can you take out the trash on your way?
D)   
What time are you coming home tonight?
E)   
Don't worry. I have already planned to go 

out with friends.
93. 
Jennifer: It's so good to see you! It has 



been so long that I have almost 



forgotten what you look like!  In 



fact you look quite different than 



the last time we met.
Benjamin : ……


Jennifer: You are right; I did not notice 



that at first. What does your wife 



think about it?
Benjamin: She doesn't like it, but since 


I've gotten used to it, I think it 


suits me.
A)   
They are the clothes from an excellent


Italian designer.
B)  
I think you look just the same except for your glasses.
C)   
I know, it has been nearly ten years.  I decided to grow a beard six months ago, that's probably why I look so different.
D)   
After ten years, I ought to look different. Did I tell you my wife and I bought a new car and a house in the country?
E)   
You must be joking, I can't have changed that much.
94. 
Ben

: What time is it?
Alison   : …….
Ben

: Oh, really. I haven't noticed that.
Alison   : Just relax. We know the plane 


will arrive sooner or later.
A)    I do not really mind your being late.
B)   
I am sorry, I haven't got the time to come with you.
C)   
We must be three hours ahead from London.
D)   
Only five minutes passed since the last time you asked.
E)   
The question should be why rather than when.
95. 
Lynn
: I really like your curtains, where 



did you buy them?
Maggie : I just bought the material and 


then made the curtains myself.
Lynn
:……..
Maggie : You know I will always help if I 


can.
A) 
I think the television would look much better if it was in a cabinet.
B)  
I am sure you could have found other things to do with your time.
C) 
Can't you see that the way you have dressed your windows makes this room look a lot smaller than it really is.
D)  
Do you think I could borrow your sewing machine as I have some dresses that I need to shorten?
E)  
I wish I were able to do things like that but I am no good at decorating or needlework.
96. - 100. sorularda, cümleler sırasıyla okunduğunda parçanın anlam bütünlüğünü bozan cümleyi bulunuz.

96. 
(I) Ra was one of the most important gods of ancient Egypt. (II) He was the chief of the cosmic deities and was sometimes called the creator and father of all things. (III) Various other Egyptian gods were frequently identified with him, such as Amon and Atum. (IV) However, he grew increasingly important in Egypt, and eventually he became the supreme deity. (V) Ra had several manifestations, the most common being those of the hawk and the lion.
A) I

B) II           C) III
       D)IV         E)V
97. 
(I) There are some inventions such as the wheel and the printing press that have radically changed human existence. (II) Then there are those more mundane things that we rarely think about, but without which we'd be much worse off. (III) Imagine a world without glasses for example. (IV) Probably the oldest eyeglass frames known are recorded in a painting by Di Modena in 1352. (IV) Many of us would walk around bumping into things and driving our cars up onto the sidewalk.
A) I

B) II            C) III          D) IV            E)V
99. 
(I) Alzheimer's is a degenerative brain disease that usually begins gradually, causing a person to forget recent events or familiar tasks. (II) People who exercise regularly have healthier brains. (III) How rapidly it advances varies from person to person, but the disease eventually leads to confusion, personality and behaviour changes and impaired judgment (IV) Communication becomes more difficult as the disease progresses. (V) Eventually, most people with Alzheimer's disease become unable to care for themselves.
A) I          B) II             C) III            D)IV          E)V
98.
(I) Disease-causing organisms can be passed along by indirect contact. (II) It was then important to protect yourself from infectious diseases. (III) Many germs can linger on an inanimate object, such as a tabletop, doorknob or faucet handle. (IV) When you touch the same doorknob grasped by someone ill with the flu or a cold, for example, you can pick up the germs he or she left behind. (V) If you then touch your eyes, mouth or nose before washing your hands, you may become infected.
A) I

B) II           C) III            D)IV            E)V
100.(I) An earthquake is the ultimate result of 
slow, steady accumulation of tension in rock faces. (II) They gradually try to slip past each other, pulled by motions deep inside the Earth. (III) The sheer force builds higher and higher and the rocks resist as much as they can. (IV) It turns out that human engineering has already accidentally triggered earthquakes. (V) Suddenly, they slip past each other, releasing the energy in seismic bursts.
A) I

B) II         C) III            D)IV         E)V
İNGİLİZCE GENEL DENEME SINAVI 4


1-	Cevap kağıdınızda  Yabancı dil bölümüne işaretleyiniz.


2-	Bu testte 100 soru vardır. Cevaplama süresi 150 dakikadır.


3-	Cevaplamaya istediğiniz sorudan başlayabilirsiniz.
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